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d) What are supplementary angles? \@r\

Lig® Hlp®= 1322
e)Use the flgure to the right to name two pairs of opp05|te rays
Zod 52, 2 ond CF

f) Use the flgure to the right to ﬁame 3 collinear points.

g) Points B and E are zi]ways ﬂ ///ﬁﬁ,f’,

4. Find the distance between the point (7 5) and the point (9, -1)? Then find the midpoint.

d =20 =6.32

Mc g, 2) -
5. Use the figure to right. (3, r
a) A car travels from A to B and then to E. What is the total distance? 7 Bt /’ ‘ :
a- é;;@':" epe = 8547‘4'74/.:/6,/é - vt
b) If F is the midpoint of DC, where is the location of F? (3 % : ( . ’v/’
rwr S
F (15, 0.5]
A -5 "‘3
g 3 Il
6. If BD=74, BC=2x+7, and CD=4x+1, find x. Then find BC and CD. . . .
—nr ! -1 . ]
Ti = OXETE X Be =29
2N = 4 5

7 Aj If m<ABC is 83°, determine m£ABD and m£DBC.
/ mLABC = I £ACL F mLDRC
/3’ o S3 - 3x+2 #21XH]
3x+2 4 _
LI:M/_? X~ o
® e MLABH :‘50
pmeoe = 33°

8. Complete the following proofs using a 2 column proof:

a) .
iven: 4(x+3)=52
Gher ARsd)=9 b) If <A and <B are complementary, and <C
Prove: x=10 and <§ are complementary, which of the
. following can represent measures of <A and
<C?

Vad \ ’ ) o

Le(X43) =57 B-'ven a)m<A=30°,m <C = 60

117 &2 o Lot Lot O (6Dm<A=50°,m <C = 50°
f‘i; = //2%: W‘“g‘f %ﬁﬂﬁéi cg)r:<A=120°m<C=6o°
-—4/ = 0 178 /j 2 Ty 8] O rnes =~ 0 o )
5 ﬁ / & 2 AAA.LA/.E
X = /O Q/e/;// 247 /ﬁ:’//}’ﬁf‘? A~ el +¢8 < 40 d
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